0 WTE

...a..zg.. - Bt

CHAPTER

Q.1 Malch List-1 with List-lt and select the correct

answer using the codes given below the lists;
Listel

A. Doublyreinforced seclion

B. Limil state design

C, Minimumcover

D. Spandepihratio
sttt

1. “Senviceability

2, Durability

3. Reduclionin sectional deplh

4. Ulimate momentcapacity-

Codes:

AB CD
@z 1 3 4
ks 3 1 2
)1 2 38 4
@3 4 2 1

Q.2 Consider the following slatemenls:
For an overreinforced (singly reinlorced)
reclangularRCseclxon -

Ansviers [

1. {d) 2 (b) 3 (&)

Ekp!anatwns

2. ()
Lever arm = d-0.42v, =1
' X,> X, 1m (%) = overreinlorced section
Lover € Ly siznn)
at 7days = 22
at 28 da}‘s =16

3. (s)

Xy mae = 048 0
= 0.48 % 600 = 268 mm
€ = srainin sleelontension side

#¢.C & Prestressed Concrete

1. the lgver arm vill be less than that lor a
balanced seclion

. 2. Ihe maximum slress developed by stesl

wanieequal the allowable stress insleel.
3. Ihefmaximum siress developed by concrele
ngﬁid equal allowabla stressin concrele
Whichigtthese stalements are correct?
(a) 1and?2 by 1and3
{c) 2and3 {d) 1.2and3

Q 3 Consider a doubly reinforcad beany of widlh
" b SSB@m

d= BOOmm A, = 2945 mm? and
-’1556mm2 and a’ SOmm using M20 ard
Fe-ﬁs Assum ng E=2x 109 Nfmm?, the beam
i
-(a)- Ovar- mmfnrced having britlle failure
.,(b} Undbf-ralnlorced ductita failura
) Over'teinforced. duclile failure
“{d) - Nene of lheabova

d 600

-c -1 = 0.0035[_- ]
‘(xm. ] 288

= 0.00379 ;

Yield straln of Fed15,

4 415

= +0.002 = -+ 0,002
THE, Bx2x 10

= 0.0038 > 0.00379 \

Hence, the beam is over-reinforced and having
brittle failure.



